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21) In the quadratic equation f (X) =0 » if the discriminant is negative » then which of the 2
following graphs is the graph of the function f (X) ? b - “{G.. C <
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(22) Each of the following figures represents the curve of the function f :

f (X)=aX?+ b X+ ¢ which of these figures does have b>-4ac=0 Do <t uc
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) Find the interval to which a belongs that makes the two roots of the equation :

(a+2)X*+(2a+3)X+a—1=0 real numbers.




(a+2) X2+ (2a+3)X+a-1=0real numbers.
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Prove that the two roots of the equation : A = l € Q

- o
X~ +k X+k =1 are always rational where k EQ m b _ k G Q

X kX + (K1) = o

C =k-I€Q




J £2 If L and M are two rational numbers > then prove that the two roots of the equation :
} - L]

L X2+ (L-M)X—-M =0 are rational numbers. A,:./L C,’ Q
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b » ¢ are rational numbers é az0 ,then the equation : a X+ b X + ¢ =0 has
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(a) positive real number. (b) negative real number. @

wect square real number. (d) zero.

If the roots of the equation a X 2+bX+c=0 where@are real and equal b’% ‘/
o - o

» then the roots of the equation a X2+bX+c+1=0

(a) real and equal. (b) real and different.

< (¢) complex and not real. > (d) rational.







| The given figure represents the function f: f(X)=aX>+bX+c¢
sthen (B> =4 ac) X f (3) = vvvvrneen

(a) 3 O x H'S):Q (b) - 1

(c)-3 ?&{zero

l

101- Yoc
















